DECEPE!

slsd

[— =]

- -
Llgx| e

DIMENSIONS(mm) | BEARING NO. |
s - Jooolarlmziw [ s T Je o M XS o0 SO
0.75 1 80M 294 206 541100 122 159 27 4-10 155 6 620427620477
1.5 2 90L 373 |222 172 125 155 140 35 4-10 7 8 |6205ZZ|6205ZZ| 185
22 3 100L | 401 | 247 100 193 | 140 176 17 63 60 160 208 42 2 4-12 28 7 24 8 620672 |62062Z| 27
37 5 112M 429 |281| 112 | 213 [ 140 180120 | 70 |60 190222|45 | 12 | 4-18 |28 | 7 | 24 | 8 |6206ZZ|6206ZZ| 38
5.5 15 1325 492 1320132 | 252|140 180/ 20 | 89 |80 | 216|256|50 | 15 | 4-18 | 38 | 8 | 33 | 10 | 620827 |62082Z| 50
75 10 132M | 530 |320]132]252|178 218|120 |89 |80 |216(256| 50 | 15 | 4-18 | 38 | 8 | 33 | 10 |6208ZZ|6208ZZ| 58
1 15 160M | 610 [424[160 314|210 260| 25 [108 | 110 | 254|314 | 65 | 20 |4-14.5] 42 37 | 12 | 620977 | 620922 | 122
15 20 160L | 654 [424(160 | 314|210 |254|304| 25 108|110 | 254|314 | 65 | 20 |6-14.5| 42 37 | 12 |6309ZZ | 620927 | 144
18.5 25 180M | 686 [463[180|354| 24 311135 [ 121 1110 |279349] 70 | 22 |4-14.5] 4¢ 425] 14 | 6311ZZ | 6211ZZ | 185
22 30 180M | 686 [463[180|354| 24 311135 [ 121 1110279 349] 70 | 22 |4-14.5] 4¢ 425| 14 | 631222 | 6211ZZ | 204
30 40 180L | 724 463 (180 354|279 349] 35 | 121 (110 |279349| 70 | 22 |4-14.5] 55 49 | 16 | 631277 | 6211ZZ | 214
37 50 200L | 799 | 512 [200/396|305 369 32 |133 /140318 |388| 70 | 25 |4-18.5] 60 53 | 18 | 631327 | 621227 | 297
45 60 200L | 799 | 512 [200|396|305 369 32 | 133 |140)318 |388| 70 | 25 |4-18.5] 60 53 | 18 | 63132Z | 6212ZZ | 299
55 75 2255 848 |558|225)445|286| 311393 46 149 140[356431| 75 | 28 |6-18.5] 65 58 | 18 | 631427 | 631277 | 382
75 100 2505 | 909 | 617250484 | 311 1349|445 55 | 168 140 |406/484| 80 | 30 | 6-24 | /5 68 | 20 | 6317ZZ | 6313ZZ | 500
90 120 250M | 909 | 617 | 250|484 | 349 445| 55 |168 |140|406|484| 80 | 30 | 4-24 | 75 68 | 20 | 63172Z | 631322 | 512
10 150 2805 |1009)676|280|546 | 368 485| 44 |190 170|457 |542| 85 | 35 | 4-24 | 85 76 | 22 | 6318ZZ | 6314Z2Z | 719
132 180 280M | 1060 |676|280]546| 419 536 69 |190|170|457|542| 85 | 35 | 4-24 | 85 76 | 22 | 631827 | 6314ZZ | 725
160 215 3155|1223 |855] 315 |620 406 570 29 | 216 170 |508|628(120 | 45 | 4-28 | 95 86 | 25 |6320C3 | 6319C3 | 1088
185 250 315M | 1333 |855] 315 |620] 457 680) 84 | 216 170|508 628|120 45 | 4-28 | 95 86 | 25 |6320C3 | 6319C3 | 1220
200 270 315M [ 1333 |855] 315|620 457 680| 84 | 216 1170|508 628 [120| 45 | 4-28 | 95 86 | 25 [6320C3 | 6319C3 | 1228

7!}.15

AZM(X{F2h YZ (D2 Y-AZM (RIS

eeo [ o990 [ 2997

HYEHCW) Ut Vi Wi Ut vVl Wi S; E m
1 1 1 1 1 ! +¥ ¥ 3

U2 V2 W2 U2 e V2 e W2 G @® 6

o9 | 900 | 999

Ul v W

HYEHCCW) Ut Vi Wi Ut vVl w1 u2 v; w;
1 1 ! 1 1 1 I T

U2 V2 W2 U2 V2 e W2 ® @ 6

122



Industrial Pump

rame —mm_ BEARING NO.
e I 3 A 8

0.75 80M B14 294 | 3 |40(120/80[169]|126] 100 | 4-M6 15.5 6204Z7C3|620477C3| 9

1.1 1.5 80M B14 294 | 3 40 120/ 80[169]126| 100 | 4-M6 19 15.5 620477C3|620477C3 10.5

15| 2 | 90S B14 336 | 3 |50(136|95(185|132| 115 | 4-M8 | 24 20 6205Z7C3|6205ZZC3| 15
3

22 | 3 | 90L B14 373 50[136|95[185|132| 115 | 4-M8 | 24

3 4 | 100L B14 401 | 3.5 |60[164|110(208|147| 130 | 4-M8 | 28
4 |55 | 112M B14 405 | 3.5 56.5160(110|219]168| 130 | 4-M8 | 28
55 | 7.5 | 1325 B14 466.5| 4 |76 |200(130|258(187| 165 | 4-M8 | 38
75 | 10 | 1325 B14 466.5| 4 |76 /200(130]258(187| 165 | 4-M8 | 38

24 6206Z7C3|6206ZZC3| 25
23.2 6306Z7C3|630627ZC3| 34
32.1) 10 |6308Z7ZC3|63087ZC3|49.5
32.11 10 |630877C3|6308Z7ZC3| 55

6
8
20| 8 1620527(C3|6205ZZC3| 19
8
8

00 |00 [~ |~ |~ |~ O |

SHAFT
EXTENTION ) >
— ; i
2| F 1—H e [ I ]
* 1
Lo
rame DIMENSIONS(mm) BEARING NO.
o i T ool 1 ool aalulu e omans
160M 610 110350 |250 350|264 | 300 |4-18.5 6309ZZC3 630922C3 122

15 20 160M BS 610
185 25 | 160L B5 654
22 | 30 | 180M B5 686
30 | 40 | 200L B5 769
37 | 50 | 200L B5 769
45 | 60 | 255M B5 818
55 | 75 | 250M B5 909
75 | 100 | 2805 B5 959

110/350|250|350|264| 300 |4-185 42 37 12 630977 | 6309727 | 137
110/350(250(350|264| 300 |4-185| 42 | 37|12 | 6309727 | 630977 | 150
110/350(250|350/283| 300 |4-185| 48 425 14 | 631277 6311ZZ | 198
110/400/300({400/312| 350 |4-185| 55 [49|16 | 631377 631277 | 244
110/400/300|400| 312 | 350 |4-185| 55 |49|16 | 6313ZZ 631277 | 261
1101450350 (450|333 | 400 |8-185| 55 |53 |18 | 631277 631277 | 324
140|550 | 450|484 |367| 500 |8-185| 60 |53 |18 | 6314727 6313ZZ | 407
140/550[450[546(396| 500 |8-185| 65 |58 |18 | 6317ZZ 631427 | 575

uijunjunjuajunjun junjun

123



